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This paper is of sixty (60) marks divided into three (03)
sectiondA, B, and C.Attempt the questions contained in
these sections according to the detailed instructions given

therein.
I UIH-UT WIS (60) ekl T T W < (03) TSl &, @
qur 1 H faurfa 31 uses e # fou w faega e
% AN & UT ol T HC &)

Section -A / @Ug-%h

(Long Answer Type Questionsy( < Sl atel U9 )

Note :

Section 'A’ contains four(04) long-answeitype questions
of fifteen (15) marks each. Learners are required to

answerany two (02) questions only
(2x15=30)

: W@US ‘&' H =R (04) de I arer weH 3 T ¥, udien

g & fow e o fraifa & 1 frenfday =& g8 @
Hael S Ugl & I AT B |

What do you understand by the concept of 1PR? Discuss
different protections of I1PR laws under the W.T.O. & TRIPS

obligations.
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Sifgeh T AfYehR 1 STEURON ¥ 3119 o1 T €7 fava
SR FeA 3R foom il & qed sifgs e tfushr
fafy & g 98M =1 T fafa= gransti 1 == a3
Discuss the nature & types of biotechnological patents.
S WEfTeRt 92 o1 Wepfd 3R FehRi =i == shiford |
What is patent infringement? What is the need of law reforms
in the area of IPR?
e Joeted F 87 Aifgh WHRl SfUeR % & §
H GUR H1 F ARl 22
Discusstherole of IPR in the Pharmaceuticals.
TR | wifgh TR SAfUHR I e & ==
Exdl

Section - B/ @Us-@

(Short Answer Type Questions) #1g ST a1t U9 )

Note : Section 'B' contains eight (08) sharanswertype

e -

guestions of five (05) marks each. Learners are required
to answerany four (04) questions only (4x5=20)

Fug ‘@' ¥ 313 (08) 7Y I+ arel wv I U, vl
o & forw uter (05) 2ie Fratfia & | Rranfofal = @
A el o) (04) U9l o ST S & |

What is Intellectual Property?

gk TR F 7

What isW.T.O.?

fove SAMIR HeT A 7

What are the main features of Copyright Act. 1957?
yfaferenfiesr sifufem 1957 #1 fagmad s €2
What is the object of Patient?

U= T F ILII 2?2
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Note :

e

What is the importance of registration of Trade marks?

=R fag WSl &1 1 "ed 872

What makes sui-generis system effective?

GE-SARE OTelt i S Jrel ST 22

Describe the meaning and nature of unfair trade practices.

e =R & 37 3R wfa w1 == HR

Why traditional knowledgeis required to be protected?

TR JE W FA H T STl 72
Section - C/ @Us-T1

(Objective Type Questions)’ (T&IfS w9 )

Section 'C' contains ten (10) objective-type questions of

one (01) mark eachAll the questions of this section a&
compulsoty. (10x1=10)
@Ug ' ¥ g9 (10) TGS v o T ¥, e ue
@& fow e (01) 3t Traifia & | 3@ @ue & adt wom
afremd &

Indicate whether the following are true or false:

frefafea & e g/me fafau-

1.

IPR are negative rights. (True/Fase)
Sifg® Tl SIFR THNHE Thid & AUHR 2
(F/379T)
For a Patent to benefit from legal protection it must have
industrial application. (True/Fdse)
Yl I HIH WEHU G AH YW wH & AU gEER
N Hee STEvaE T (Fa/3TEA)
Trade marks are closely related with reputation.
(True/Fase)

Seured, wiasel % WY uhTed ¥ 9e €1 (Wed/sTEed)
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10.

Discoveries are not patentable because it would hinder the

pursuit of knowledge. (True/Fase)
@il W a9 7 € Hbifer 98 99 o @ § a1 2

(HcT/379T)
A patent lasts for 20 years. (True/Fdse)
T 92 20 O F AU wr 2l (Tea/ 37 )

One of the most powerful weapons against illegal copying of
music from compact discsis new technology. (True/Fase)

e feem 9 Gilld &1 36y Tha & faeg T

Tehiteh Ted SIferemell BfER B ( T/ 3TE)
Patent overview is part of a patent. (True/Fase)
e fHgEdsT T Ui & few 2l CGRIE )
A trademark should not be distinctive. (True/Fase)
T T fafire & g =l (TT/3TA)
Mathematical processes are patentable under the patent Act,
1970. (True/Fase)
ot gfsrard v sifufrEm, 1970 & SER 9 A €

(9cT/3719T )
It is possible for a new product to be protected using trade
mark and copyright. (True/Fdse)
TH T4 IR 6 AR fag IR HNEe & SwE g
weferd feren S @R 2 CGRIE )
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